Q1 (20 marks): Determine the magnitude and coordinate direction angles of the resultant force.
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Q2 (20 marks): If the 1.5
the force in cord BC and the distance y
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Q3 (20 marks): The building slab is subjected to four parallel column lo_adlrljlii ﬁTENﬁe
equivalent resultant force and specify its location (x, ) on the slab. Take F1 =30 kN, k2 &
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Q4 (20 marks): Determine (he

horizontal and vertical components of roucuon at the pin A and {
tension developed in cable BC

used to support the steel frame,
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